Sec 11-3: Geometric Sequence

Created by multiplying each term by the same
number to get the next term..

The ratio between consecutive terms is constant.

r = Common Ratio Any term an
" Previous term  an-t

The Geometric Mean of any two
number, a & b, is always found by...
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Given the following Geometric Sequence

9, x, 1296, ... Find the value of x

another method

One method:
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Now multiply 9 by both 12 and -12 X = i /0 5_{

x= 0% or /o6&

+x is called the Geometric Mean of 9 and 1296.

Find the missing terms of this Geometric 2Sequence:
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find the missing terms b);_multiplying by +4

192 canl be negative because 1}

T s V\ij Fhe SljnS bol"l aQternade
Md € fhe 15T ferm s pos  Hho
7203 will oo VLQ—j S,' ‘H@ 2wl
g0 back Yo pos.



Find the missing terms of this Geometric Sequence:
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